Q1:

If M is the least common multiple of 90, 196, and 300, which of the following is NOT a factor of M?

A. 600

B. 700

C. 900

D. 2,100

E. 4,900

Answer: 
----------------------------------------------------------------------------------------------------------------------

Q2:

In planning for a trip, Joan estimated both the distance of the trip, in miles, and her average speed, in miles per hour.  She accurately divided her estimated distance by her estimated average speed to obtain an estimate for the time, in hours, that the trip would take.  Was her estimate within 0.5 hour of the actual time that the trip took?

(1)
Joan’s estimate for the distance was within 5 miles of the actual distance.

(2) 
Joan’s estimate for her average speed was within 10 miles per hour of her actual average speed.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q3:

What is the greatest prime factor of 2100 - 296?

A.
2

B.
3

C.
5

D.
7

E.
11

Answer: 

----------------------------------------------------------------------------------------------------------------------

Q4:

What is the value of x? 

(1)
│x+2│≤ 4

(2) 
x2 = 36

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q5:

If b, c, and d are constants and x2 + bx + c = (x+d)2 for all values of x, what is the value of c? 

(1)
d = 3

(2) 
b = 6

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q6:
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  Note:  Figure not drawn to scale.

The figure above represents a square garden that is divided into 9 rectangular regions with indicated dimensions in meters.  The shaded regions are planted with peas, and the unshaded regions are planted with tomatoes.  If the sum of the areas of the regions planted with peas is equal to the sum of the areas of the regions planted with tomatoes, what is the value of x?

A.
0.5
B.
1

C.
1.5
D.
2
E.
2.5
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q7:

Working at their respective constant rates, machine A makes 100 copies in 12 minutes and machine B makes 150 copies in 10 minutes.  If these machines work simultaneously at their respective rates for 30 minutes, what is the total number of copies that they will produce?

A.
250

B.
425

C.
675

D.
700

E.
750

Answer: 

----------------------------------------------------------------------------------------------------------------------

Q8:

If w, x, y, and z are integers such that 1 < w < x < y < z and wxyz = 462, then z = 

A.
7
B.
11

C.
14
D.
21
E.
42
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q9:

For a week Raymond is paid at the rate of x dollars per hour for the first 40 hours he works and y dollars per hour for the hours worked in excess of 40 hours.  What is the value of y? 

(1)
If Raymond works 46 hours in one week, he will earn $416.50.

(2) 
Raymond’s hourly rate for the hours worked in excess of 40 hours per week is 1.5 times his hourly rate for the first 40 hours.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q10:

A certain company sold 800 units of its product for $8 each and 1,000 units of its product for $5 each.  If the company’s cost of producing each unit of its product was $6, what was the company’s profit or loss on the 1,800 units of its product?

A.
$1,600 loss

B.
$600 loss

C. No profit or loss

D.
$600 profit

E.
$1,600 profit
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q11:

What is the remainder when the positive integer n is divided by the positive integer k, where k > 1? 

(1)
n = (k+1)3

(2) 
k = 5

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q12:

In a stack of cards, 9 cards are blue and the rest are red.  If 2 cards are to be chosen at random from the stack without replacement, the probability that the cards chosen will both be blue is 6/11.  What is the number of cards in the stack?

A.
10

B. 11

C. 12

D.
15

E.
18
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q13:

In triangle PQR, the measure of angle P is 30° more than twice the measure of angle Q.  What is the measure of angle R? 

(1)
PQ = QR

(2) 
The measure of angle P is 78°.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q14:

If 9x = 27y, which of the following expresses x in terms of y?

A.
3y
B.
3y-1
C.
32y-1

D.
32y-3

E.
33y-2

Answer: 

----------------------------------------------------------------------------------------------------------------------

Q15:

The average (arithmetic mean) of a list of numbers is what percent of the sum of the numbers?

(1)
There are 8 numbers in the list.

(2) The sum of the numbers in the list is 100.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q16:

Three pieces of wire have an average (arithmetic mean) length of 39 inches and a median length of 48 inches.  What is the maximum possible length, in inches, of the shortest piece of wire?

A.
21

B. 24

C. 27

D.
30

E.
33
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q17:

If 0 < r < 1 < s < 2, which of the following must be less than 1?

I. r/s

II. rs

III. s - r

A.
I only
B.
II only

C.
III only
D.
I and II
E.
I and III
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q18:



  B             C



  A


     D

Is quadrilateral ABCD a square? 

(1)
AB = BC = CD = DA

(2) 
x + y = 180

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q19:

Running at their respective constant rates, machine X takes 2 days longer to produce w widgets than machine Y.  At these rates, if the two machines together produce 5/4 w widgets in 3 days, how many days would it take machine X alone to produce 2w widgets?

A.
4

B.
6

C.
8

D.
10

E.
12

Answer: 

----------------------------------------------------------------------------------------------------------------------

Q20:

If k is an integer and (0.0025)(0.025)(0.00025)×10k is an integer, what is the least possible value of k?

A.
-12

B. -6

C. 0

D.
6

E.
12
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q21:

If x and y are positive integers, what is the value of (x+y)2?

(1)
x = y - 3

(2) x and y are prime numbers.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.















Answer: 

----------------------------------------------------------------------------------------------------------------------

Q22:

The points R, T, and U lie on a circle that has radius 4.  If the length of arc RTU is 4(/3, what is the length of line segment RU?

A.
4/3
B.
8/3

C.
3
D.
4
E.
6
Answer: 

----------------------------------------------------------------------------------------------------------------------

Q23:

If r and t are positive integers, what is the value of t?

(1)
 tr-1 = 1

(2)
 r ( 1

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

-------------------------------------------------------------------------------------------------------

Q24:

In the xy-plane, the line k passes through the origin and through the point (a, b), where ab ≠ 0.  Is b positive?

(1)
 The slope of line k is negative.

(2)
 a < b

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

-------------------------------------------------------------------------------------------------------

Q25:

2x + y = 12

│y│≤ 12

For how many ordered pairs (x, y) that 2 solutions of the system above are x and y both integers?

A. 7

B. 10

C. 12

D. 13

E. 14

Answer: 

-------------------------------------------------------------------------------------------------------

Q26:

Of the families in City X in 1994, 40 percent owned a personal computer.  The number of families in City X owning a computer in 1998 was 30 percent greater than it was in 1994, and the total number of families in City X was 4 percent greater in 1998 than it was in 1994.  What percent of the families in City X owned a personal computer in 1998?

A. 50%

B. 52%

C. 56%

D. 70%

E. 74%

Answer: 

-------------------------------------------------------------------------------------------------------

Q27:

At a sale all books were priced equally and all magazines were priced equally.  What was the price of 3 books and 4 magazines at the sale?

(1)
 At sale the price of a book was $1.45 more than the price of a magazine.

(2)
 At sale the price of 6 books and 8 magazines was $43.70.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

(Note: A trap!)

-------------------------------------------------------------------------------------------------------

Q28:

If $2,000 in a savings account earned the equivalent of 8½ percent simple annual interest, how much interest did the amount earn in one year?

A. $160

B. $170

C. $180

D. $240

E. $260

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

In the xy-plane, region R consists of all the points (x, y) such that 2x + 3y ≤ 6.  Is the point (r, s) in region R ?

(1)
  3r + 2s = 6

(2)
  r ≤ 3 and s ≤ 2

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q30:

If sequence S has 250 terms, what is the 243rd term of S ?

(1)
  The 242nd term of S is –494.

(2)
The first term of S is –12, and each term of S after the first term is 2 less than the preceding term.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q31:

A total of n trucks and cars are parked in a lot.  If the number of cars is 
[image: image1.wmf]4

1

 the number of trucks, and 
[image: image2.wmf]3

2

 of the trucks are pickups, how many pickups, in terms of n, are parked in the lot?

A. 
[image: image3.wmf]6

1

 n
B. 
[image: image4.wmf]12

5

 n
C. 
[image: image5.wmf]2

1

 n
D. 
[image: image6.wmf]15

8

 n
E. 
[image: image7.wmf]12

11

 n
Answer: 

------------------------------------------------------------------------------------------------------------

Q32:

	 
	Number Studying
	Number Not
	Total

	 
	Biology
	Studying Biology
	 

	Number
	 
	 
	18

	of Boys
	 
	 
	 

	Number
	 
	 
	 

	of Girls
	 
	 
	 

	Total
	26
	 
	 


The table above shows the number of students in a certain high school class who are boys and the number of students in the class who are studying biology.  What is the total number of students in the class?

(1)
  Of the boys in the class, 15 are studying biology.

(2)
The number of girls in the class is twice the number of students in the class who are not studying biology.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

If r = 0.345, s = (0.345)2, and t = 
[image: image8.wmf]345

.

0

, which of the following is the correct ordering of r, s, and t ?

A. r < s < t
B. r < t < s
C. s < t < r
D. s < r < t
E. t < r < s
Answer: 

------------------------------------------------------------------------------------------------------------

Q34:

One gram of a certain health food contains 7 percent of the minimum daily requirement of vitamin E and 3 percent of the minimum daily requirement of vitamin A.  If vitamins E and A are to be obtained from no other source, approximately how many grams of the health food must be eaten daily to provide at least the minimum daily requirement of both vitamins?

A.   3

B.   7

C. 10

D. 14

E. 33

Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

There are 8 magazines lying on a table; 4 are fashion magazines and the other 4 are sports magazines.  If 3 magazines are to be selected at random from the 8 magazines, what is the probability that at least one of the fashion magazines will be selected?

A. 1/2

B. 2/3

C. 32/35

D. 11/12

E. 13/14

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:

What is the remainder when the two digit, positive integer x is divided by 3?

(1)
  The sum of the digits of x is 5.

(2)
  The remainder when x is divided by 9 is 5.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.














Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

In Town X, 64 percent of the population are employed, and 48 percent of the population are employed males.  What percent of the employed people in Town X are females?

A. 16%

B. 25%

C. 32%

D. 40%

E. 52%

Answer: 

------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------

Answers:

AECCD,CDBCD,ACDEA,AAEEE,CDCCD, ABBEB,DBDEE,DB
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